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Question number 1 to 5 carries 1 marks each

Question number 6 to 13 carries 2 marks each

Question number 14 to 16 carries 3 marks each

1. Mention the total number of elected Members to the Loksabha
(a) 543 (b) 540
(c) 542 (d)y 272
2. Expand N D A in reference to the Government of India
(a) National Democratic alliance (b) National Dynamic alliance
(c) National Diplomatic alliance (d) None of the above
3. Mention number of nominated members to the Rajya sabha by the President
(a) 12 (b) 20
() 10 (d) 02
4, Who appoints the chief justice of India?
(a) Governor (b) President of India
(c) Prime Minister (d) None of the above
B Mention the number of seats reserved for the Scheduled Tribes in Lok sabha
(a) 423 (b) 79
(c) 41 (d) None of the above

6. Explain the coalition form of government

7. Explain the term constituency

8 Define Domestic violence Act

9. What is the role of the Judge in the criminal justice system?

10.  Whatis Fair Trial?

11.  Whatis the role of Police in the criminal justice system?

12.  Define the term Marginalisation

13.  Explain any two functions of the Parliament

14.  Write any three differences between criminal law and civil law

15.  Mention the Rights guaranteed by Article 22 of the Indian Constitution
16 Explain the role of the public prosecutor in the criminal justice system
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1) Horticulture means

(a) Growing of fruits and vegetables(b) Primitive farming(c) Growing of wheat(d) None

2) Golden fibre refers to

(a) Tea(b) Cotton(c) Jute(d) None
3) Leading producer of coffee

(a) Brazil(b) India(c) Russia(d) None

4) Silicon Valley is located in

(a) Bangalore(b) California(c) Ahmedabad(d) None

5) Which one of the following industries is known as sunrise industry?

(a) Iron and steel industry(b) Cotton textile(c) Information technology(d) None
6) Which one of the following is a natural fibre?

(a) Nylon(b) Jute (c) Acrylic(d) None

7) Which does the term population distribution refer to?

(a) How population in a specified area changes over time.

(b) The number of people who die in relation to the number of people born in a
specified area.

(c) The way in which people are spread across a given area.
(d) None

8) Which are three main factors that cause population change?
(a) Births, deaths and marriage(b) Births, deaths and migration
(c) Births, deaths and life expectancy(d) None

9) In 1999, the world population reached

(a) 1 billion(b) 3 billion(c) 6 billion(d) None

Il.LAnswer the following questions any two
1.what is resource conservation? 3marks

2.Give three examples of kharif crops? 3marks

3.Define mineral. Name the two types of minerals ~ 3marks

.Why cotton textile industry rapidly expanded in Mumbai? S5marks
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